Verifiche

Questa sezione ospita alcuni esercizi svolti sugli argomenti oggetto della politica economica.
Per ognuno dei capitoli (ad esclusione del primo) sono presenti degli esercizi. Si tratta di quesiti in buona parte ricostruiti a partire da notizie reperite sui media internazionali, benché le esigenze didattiche abbiano indotto ad una semplificazione in qualche caso forse eccessiva.

Si consiglia di leggere le domande presenti in ciascun esercizio ignorando la soluzione e tentando una risposta in modo autonomo. Solo dopo converrà leggere la proposta di risposta che segue l’esposizione del problema e le conseguenti domande.
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Chapter 2

Example 1



Prices in all areas of the bond market traded in a narrow range for most of the week, but jumped sharply yesterday morning in reaction to the news that the U.S. Senate voted to approve specific deficit reduction measures.



Why would bond prices jump in reaction to this news?



If the deficit is reduced, the government will not be selling so many bonds, implying that the interest rate should fall. A fall in the interest rate will push up the price of bonds. Anticipating this increase, bond traders buy bonds, bidding up their price.



Example 2



The damaging effect to the marketplace created by the persistence of heavy government borrowings is an ever-present concern for bond investors. A fear is that the solution to the government's seemingly insatiable appetite for funds will be debt monetization. As a result, most observers expect interest rates to remain historically high.



What is debt monetization, and why is it feared?



Debt monetization is printing money to finance a deficit (i.e., selling bonds to the central bank). Doing this would increase the money supply and lead to inflation, raising the nominal interest rate and lowering the price of bonds. This fall in bond prices is why it is feared by bond investors.



Why would most observers expect interest rates to remain high?
Because debt monetizatior cannot be completely discounted, expected inflation is high, causing a high nominal interest rate.



Example 3



First, a rise in the debt/GDP ratio means that the current generation is consuming goods and services at the expense of future generations. We are in effect stealing from the future by consuming more than we can produce.



How can we possibly consume more than we can produce?



By borrowing from foreigners we can pay for imports, augmenting the output we produce for distribution to our citizens. Borrowing domestically causes crowding out. The total output distributed to various ends within the economy remains constant, but some people get less (those crowded out) and others get more (those who have borrowed). If we look just at consumption, it may be that the present generation is consuming more by investing less, implying that a smaller capita stock will be passed on to future generations.



Does this borrowing necessarily imply that we are stealing from future generations?



If the borrowing is to finance consumption goods, then future generations will pay. But if the borrowing is to finance investment goods, it is possible that future generations will be better off. The investment goods may make future generations much more productive.



Example 4



As to how the federal deficit would be cut back, the economists rule out tax increases. Instead, the cuts must come on the expenditure side with the average growth of federal expenditures—including interest payments on the national debt—kept below average growth of GDP.
Why would these economists favor cutting back government spending over raising taxes?
This view is purely a value judgment on the part of these economists. They are conservatives in that they feel that the level of government spending is already too large. Liberal economists would take the opposite view, favoring more government involvement in the operation of the economy. Most economists are conservatives in this respect because through studying economics they have come to respect the efficiency of the free market. They do not believe that government-directed spending creates extra benefits as great as those that would be created by private spending.
Chapter 3

Example 1



Looking at the data, some people might say the balance of payments has "improved" radically, from a $7 billion current account deficit three years ago to surpluses of $4 billion and $2 billion in the last two years. It is this ongoing current account surplus which led the optimists to predict that the dollar should appreciate.



What is the logic of this thinking?



The logic is that the improvement in the current account causes a balance of payments surplus (an excess demand for the dollar on the foreign exchange market), which under a flexible exchange rate system should lead to a rise in the value of the dollar.



What problem is there with this logic?



It is careless to identify a change in any subsidiary account of the balance of payments with a change in the balance of payments itself. It could be, for example, that there has been a fall in the capital account offsetting the impact on the balance of payments of the improvement in the current account.



Example 2



The link between the current and capital accounts is often misunderstood. Leaving aside the relatively small influence of central-bank intervention in foreign exchange markets, any deficit or surplus on capital account must be matched by an equal and opposite surplus or deficit on current account. It follows that, as long as the U.S. is to be a capital importer, it must have . . .
To what does the central-bank intervention refer?


It refers to net purchases or sales of foreign currency by the central bank.

What is the implication for the balance of payments of this central-bank intervention being very small?



The implication is that the balance of payments is essentially zero. The magnitude of the balance of payments is measured by the net government sales or purchases of foreign currency.

What is the logic behind why any deficit or surplus on capital account must be matched by an equal and opposite surplus or deficit on current account?



If the balance of payments is zero, then the sum of the current and capital accounts, which yields the balance of payments, must be zero.



How would you complete the final sentence?



. . . a current account deficit.



Example 3



While some in the U.S. put the trade deficit down to failing U.S. competitiveness or protectionist policies abroad, some economists claim that its genesis lies in the budget deficit, and the consequent shortfall in U.S. domestic savings relative to investment.
How would failing competitiveness or protectionist policies abroad lead to a trade deficit?
Failing competitiveness means that foreign competitors are underpricing U.S. businesses both abroad and at home, decreasing U.S. exports and increasing U.S. imports, both of which create a trade deficit. Protectionist policies abroad means that foreign tariffs or quotas inhibit or prevent U.S. exports, creating a trade deficit.



How would a budget deficit lead to a shortfall in domestic savings relative to investment?

To finance the deficit the government would sell bonds, diverting domestic savings from financing private investment.


How could the budget deficit be responsible for the trade deficit?



The budget deficit causes the interest rate to rise, making U.S. bonds attractive to foreign investors. To get U.S. dollars to buy U.S. bonds, foreigners bid up the value of the U.S. dollar. A higher dollar value causes U.S. exports to become more expensive to foreigners and imports to become cheaper to Americans. In turn, exports fall and imports rise, creating the trade deficit.



What connection is there between this example and the preceding example?



In this example the budget deficit induces capital inflows, creating a surplus on the capital account that must be offset by a deficit on the current account. This process reflects the result illustrated in the preceding example that a deficit or surplus on capital account must be matched by an equal and opposite surplus or deficit on current account.



What conclusion can be drawn about U.S. competitiveness?



The existence of the balance of trade deficit in this context does not point to unproductive U.S. business. All it says is that the exchange rate is too high to allow U.S. business to sell abroad at historical levels.

Chapter 4

Example 1



This is the reason why the fixed exchange rate system was scrapped in 1971. The U.S. had been pursuing an inflationary monetary policy to help pay for the Vietnam war and new social programs, and its trading partners did not all want to participate in it.



What is an inflationary monetary policy?



Inflation results from increasing the money supply at a rate greater than the real rate of growth of the economy.



What are the three basic ways of paying for the Vietnam war and new social programs? To which does the ''inflationary monetary policy" refer?



This government spending must be financed by raising taxes, selling bonds to the public, or printing money (selling bonds to the central bank). The last of these is most directly tied to inflation.



What is forcing U.S. trading partners to participate in this inflationary monetary policy?
Under a fixed exchange rate a small open country is forced to experience the same monetary policy as the country to which its exchange rate is fixed. In this example the trading partners had fixed their exchange rates to the U.S. dollar.



If the fixed exchange rate system were scrapped, what exactly would these trading partners have to do to opt out of participating in this inflationary monetary policy?



They would have to reduce their money-supply growth rate to produce the long-run inflation rate they desire, and allow their exchange rate with the U.S. dollar to rise continually, at a rate equal to the difference between the U.S. rate of inflation and their own.

Example 2



While critics have suggested that the central bank could lower rates and, in so doing, let the dollar fall on international exchange markets, the report said that the dollar has already fallen in the last half-dozen years and raises the question of why things have not gone better if exchange rate depreciation is so good for the economy.



What rate is it suggested be lowered, and why would it cause the dollar to fall?



If the interest rate is lowered, capital inflows will fall, decreasing the demand for our dollar, causing its price in terms of foreign currency to fall.



What is the rationale behind the belief that exchange rate depreciation is good for the economy?
A fall in our exchange rate makes our exports cheaper to foreigners and our imports more expensive to us, so demand for domestic production, in the form of exports and import-competing goods and services, should increase, stimulating our economy.


How would you explain why the fall in the dollar over the last half dozen years has not caused things to go better?



It could be that the reason why the dollar has fallen over the past half dozen years is that during this time our inflation was greater than that of our trading partners, so that the fall in the exchange rate served merely to keep the real exchange rate steady.



Example 3



In three to five years, the U.S. dollar will presumably resume its long-term slide unless Washington reverses its economic policies of the post-Second World War period and takes a tough stand against inflation. Observers believe a Reagan administration may take that tougher stand.



Why would a bout of buying fervor for the U.S. dollar result?



A stepped-up fight against inflation would involve a rise in the real interest rate to dampen aggregate demand. This rise in the interest rate would increase capital inflows, bidding up the value of the U.S. dollar. In addition, if the stepped-up fight against inflation succeeds, inflation in the U.S. would fall below foreign inflation, which by PPP also leads to a rise in the U.S. dollar. Currency speculators anticipate this and buy U.S. dollars to reap the resulting capital gain.


Chapter 5
Example 1



Then there's the state of the dollar, which has been bleeding steadily despite transfusions from borrowings and foreign reserves. Will the higher interest rates stop the hemorrhage?
What does "bleeding steadily" mean in this context?



It means that the value of the dollar has been falling.



What does "transfusions from borrowings" mean, and how do borrowings tend to stop the bleeding?



The borrowings are bond sales to foreigners. Such sales mean either that foreigners buy dollars to buy the bonds, or that we convert the foreign currency proceeds of these sales into dollars, both of which increase the demand for dollars on the foreign exchange market, putting upward pressure on the dollar.



What does "transfusions from foreign reserves" mean, and how do foreign reserves tend to stop the bleeding?



This phrase refers to the government using some of its foreign exchange reserves to buy dollars on the foreign exchange market. This extra demand for the dollar puts upward pressure on its price.
What will happen if the "transfusions from foreign reserves" method is employed over a long period of time?


The government will run out of foreign reserves, a currency crisis will develop, and the dollar will be devalued.



What logic lies behind the idea that higher interest rates might "stop the hemorrhage"?


The higher interest rates should induce capital inflows, increasing the demand for U.S. dollars and putting upward pressure on its price.



Example 2



Furthermore, current monetary policy appears to be conducted as if we were on a fixed exchange rate. Policy is effectively geared to maintaining the exchange rate at the expense of a domestic recovery.



How would monetary policy be conducted if we were on a fixed exchange rate?



Any change in the exchange rate would call forth a change in the money supply to push the exchange rate back to its original level. For example, suppose a balance of payments surplus develops, causing the exchange rate to rise. To offset this rise the monetary authorities could increase the money supply, decreasing the interest rate and thereby reducing capital inflows and eliminating the balance of payments surplus. Note that this example is in essence just another way of telling our earlier story, in which the increase in the money supply happens automatically.
How could maintaining the exchange rate be at the expense of a domestic recovery?

A domestic recovery involves an increase in income, increasing imports and creating a balance of payments deficit. This deficit would put downward pressure on the dollar. To prevent any change in the exchange rate the monetary authorities would decrease the money supply, increasing interest rates to attract capital inflows that would eliminate the balance of payments deficit. This action dampens the domestic recovery in two ways. First, it prevents a fall in the exchange rate that would stimulate the economy by increasing exports and demand for import-competing goods and services. Second, it involves a contractionary monetary policy, which works against any stimulus to recovery the economy is experiencing.



Example 3



The government may be tempted to increase official currency reserves in order to reduce the pressure on the dollar and the consequent threat to manufacturing industries. But such a move would be difficult. It would need to borrow large sums on the market because its cash balances are not strong, especially considering its large cash requirements for the coming year.



What kind of pressure is the dollar under, and why would it be a threat to manufacturing industries?



The dollar is experiencing upward pressure. An increase in the value of the dollar makes it more difficult for manufacturing industries to sell abroad and to compete against imports in its domestic market. This threat may be alleviated to some extent by reductions in the cost of imported inputs.
How would increasing official currency reserves reduce this pressure on the dollar?

To increase official currency reserves the government would have to buy foreign currency on the foreign exchange market, by selling domestic dollars. This puts downward pressure on the price of domestic dollars.



Why would this move be difficult? Can't the government have its central bank accomplish it by writing checks for the foreign currency?



If the central bank wrote checks to buy the foreign currency, it would be creating new money. Because of other cash needs, the prudent (i.e., noninflationary) annual increase in the money supply may already have been reached. Thus the extra dollars to pay for these purchases of foreign currency may have to come from bond sales. Other cash needs may already be requiring large bond sales, so to sell even more bonds the government may have to raise the interest rate.



Example 4



The response has been to search out the middle ground. The central bank has a simple operating formula: Some of the adjustment will be taken through the exchange rate, some through interest rates, and the rest through a loss of international reserves.


To what is the central bank adjusting here?



Since the economy is experiencing a loss of international reserves, it must be adjusting to a balance of payments deficit.



In what direction will the exchange rate be adjusting?



The balance of payments deficit will cause the exchange rate to fall.



How will interest rates be adjusting?



The central bank will be selling bonds to cause interest rates to rise to increase capital inflows or decrease capital outflows, helping eliminate the balance of payments deficit.
Chapter 6
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At the same time that Secretary Blumenthal was testifying to Congress, the Treasury borrowed $1.6 billion in Germany in the form of securities denominated in marks. It offered to pay an interest rate of roughly 6 percent per year on mark-denominated three-and four-year securities. On comparable securities denominated in dollars, the Treasury is currently paying about 9 percent—or 3 percentage points per year more.



Why is the rate of interest offered on mark-denominated securities less than that offered on dollar-denominated securities?



The value of the U.S. dollar, relative to the German mark, must be expected to decline during the next three or four years.



Assuming that mark- and dollar-denominated securities are risk-equivalent, what would you guess is the difference between U.S. and German inflation?



If these securities are risk equivalent, the difference in nominal interest rates should be due mainly to expected inflation differences, so a good guess would be 3 percent.



What does the U.S. Treasury believe about the future value of the U.S. dollar in terms of marks? What do German investors buying these securities believe?



If the value of the U.S. dollar fell by 3 percent per year over the life of these bonds, the cost to the U.S. Treasury would be the 6 percent interest plus the 3 percent fall in the exchange rate, for a total cost of 9 percent, equivalent to the cost of selling bonds denominated in dollars. Consequently, the U.S. Treasury must believe that over the life of these bonds the value of the U.S. dollar will fall by less than 3 percent per year. The German investors could have bought bonds denominated in dollars and earned 9 percent less the exchange loss, but instead opted for the guaranteed 6 percent. Consequently, they must believe that the U.S. dollar will fall by more than 3 percent per year over the life of these bonds.



Example 2



The Fed has made occasional attempts to lower interest rates and accept some lowering of the dollar as a trade-off. Sometimes it works, and sometimes, like last summer, we end up with the worst of all possible worlds—higher interest rates and a lower dollar.


What causes the trade-off mentioned at the end of the first sentence?



If interest rates are lowered, foreigners will decrease their purchases of U.S. bonds. This decrease in capital inflows creates a balance of payments deficit, leading to a fall in the value of the U.S. dollar.
How would the Fed lower interest rates?



The Fed could buy bonds, bidding up their price, thereby lowering the interest rate.

What implication would this action have for the money supply and expected inflation?

This action involves an increase in the money supply, which could create an increase in expected inflation.



Explain how the "worst of all possible worlds" could occur.



The Fed's efforts to reduce the interest rate could increase inflation expectations causing the nominal interest rate actually to increase. This higher expected inflation rate would cause foreign exchange speculators, through the logic of purchasing power parity, to expect a fall in the U.S. dollar. To exploit this, they sell dollars, causing its value to fall.



Example 3



This does not mean there is a massive flow of U.S. funds into Canada, because the differentials are mitigated by other factors. The discount on the forward Canadian dollar has kept step with the interest rate differential, and it is only on an unhedged basis that the full advantage of the differential can be gained.



What terminology do economists usually employ to describe a "flow of U.S. funds into Canada"?
It would usually be referred to as capital flows from the United States to Canada.



What must have happened to raise the possibility of a massive flow of U.S. funds into Canada?

The difference between the Canadian and U.S. nominal interest rates must have widened considerably.



What is the "discount on the forward Canadian dollar"?



This discount is the difference between the Canadian spot and forward exchange rates. It reflects an anticipated fall in the Canadian dollar over the time horizon in question, plus a return for taking on the risk of holding Canadian dollars over this period.



Why would the discount keep step with the interest rate differential?



Suppose the interest rate differential increased by two percentage points. This increase probably occurred because of an increase in expected inflation in Canada of 2 percent (or a decrease in expected inflation in the United States of 2 percent, or some combination thereof). Purchasing power parity then predicts a 2 percent increase in the rate at which the Canadian dollar is depreciating. Since everyone can figure this out, the natural forces of supply and demand increase the discount by two percentage points.



What is an "unhedged basis," and why does it imply gaining the full advantage of the differential? Contracting on the forward exchange market to avoid the risk of currency fluctuations is called "hedging." If this is not done, the full difference between the Canadian and U.S. interest rates is pocketed (but not necessarily kept, since losses from an unfavorable movement in the exchange rate may be incurred).
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